FA WSO XI %
2 Uzsus XN
ol 2gH 22 & A

H & 0l & AHS B Ml A

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

WSOl Xl 2t

S W

A H

17,102,389
975,182
466,000

20,000
2,005,913
13,635,294

19,829,888

A2,727,499

&3

M

9,633,350
59,010
466,000
20,000
615,323
8,473,017

9,892,468

A259,118

(=TT

S

M H

9,124,261
38,000
466,000
20,000
600,267
7,999,994

9,573,882

N449,621

M

1,220,000
366,000
854,000

1,230,570

210,570

307 212+01™

Mo

1,220,000
366,000
854,000

1,230,570

10,570

1,220,000,000&

RURNET

1,220,000

1,220,000
366,000
854,000

1,230,570

A10,570

H0
4>
8%
é
10

DI S= N

3,000,000

3,900,000

A900,000

3,000,000

3,900,000

A900,000

w
S
o
e
3
=]
=

0
M0
1>
e

(o)

A0
>

Q
=
T
[
o

30
o
H
FA
oy

250,000,000 «12&

3,000,000

3,000,000

3,900,000

A900,000

[=)
J2
>
O
>
0
4>

A HEXE

MO

3,938,261
531,267
3,406,994

3,583,222

355,039

307 212t01™

M H

3,937,230
531,267
3,405,963

3,582,304

354,926

o1

,500,000& *43]

3,937,230

22,000

3,582,304

354,926
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2A:

WSO X2t

3 Usus X
col 2R 2ol 2 XY (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oSEHA 2 HEXA
531,267, 0002 531,267
= 531,267
oEEHA SHAM WENA(ZH)
2,835,382,000& 2,835,382
SHUQIMA EAPAD
378,931,000 378,931
S =
32,5003 8501« 12 33,150
oRHT BB SEHA 2L T
126,000,000 126,000
oMeiel MEME S sEHA SE ME
8, 100,0002! 8,100
SOIMTISXIEDILAIY 2]
200,000 * 122 2,400
308 XtXIEMSO0IH 1,031 918 113
18 SIS0t 4 A AS At 1,031 918 13
CHASHEDBNAY 2
1,031,000& 1,031
WS OlsEe| SAXY 29 506,000 418,090 87,910
= 38,000
Il 20,000
== 39,000
o 409,000
307 212+01& 506,000 417,600 88,400
= 38,000
) 20,000
= 39,000
= 409,000
05 21t =S 376,000 300,000 76,000
CWEAT 0ISHY ZHRIE 2
75,000,000& *4=7| 300,000
Jl 20,000
o 280,000
o HMAUZSEHAl 2EH| 76,000,000 76,000
= 38,000
Ea 38,000
09 2s-AE2LS 130,000 117,600 12,400
S WS AHA HHR K EA
2,708,333 ~4CH* 123 130,000
= 39,000
Ea 91,000
SEE WSZAFE (1008 SAI2Y) 460,000 420,000 40,000
[ 100,000
= 30,000
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2A:

WSO X2t

3 Usus X
ool 2aoF el 2 XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 330,000
307 gl2tol & 360,000 320,000 40,000
[ 100,000
= 30,000
= 230,000
09 2+ AHAELS 360,000 320,000 40,000
o= Al(1008) 30,000,000+ 122 30,000
= 100,000
& 30,000
= 230,000
308 AHXIEMSOIH 100,000 100,000
08 W20t etEx 100,000 100,000
CHSFEHA(RESE) 100,000,000 100,000
Wsus 243 435,425 270,531 164,894
= 21,010
= 13,695
[Ea 400,720
ST HAIE Jdl A 22,000 22,000
401 AIEHIX R0 22,000 22,000
01 AlZH| 22,000 22,000
osEHA HEXE F4|
550,0002*40H 22,000
SIS 227,765 224,031 3,734
201 2= 79,175 50,863 28,312
01 At22telt] 35,400 15,625 19,775
CHAT B SABL R
300,000 »85CH 25,500
clizusS dY 82 2 NRPES
45,0002« 105+ 1228 5,400
clisus BRFN S4H| 4,500
2 35244l 43,775 35,238 8,537
oBIS &I & S4ltl 6,500,000 6.500
CRAHATZAAH(BIS) RAES
37,275,000& 37,275
202 048l 4,800 4,800
01 2L AL 4,800 4,800
olisus YRFA
10,0002 x4 120 4,800
203 gF=4| 2,000 2,126 A126
03 A= H 2| 2,000 2,126 A126
clsuS 243 RN
500,000 x4= 7| 2,000
207 ARl 22,000 45,000 /23,000
01 1= 22,000 45,000 23,000
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2A:

WSO X2t

M =snsE AR
ool Hsus 43t (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
cEEHA 28 MHEA AR
22,000,000 22,000
308 AXISHMSOIA 119,790 121,242 A1,452
13 I 2 S0 CHeHE & X ALY 119,790 121,242 A1,452
SRHD B GAl ¥ 2yl
726,000 *85CH 61,710
oRMT BB DAHA BT B
29,040,000 2CH 58,080
3L 2HH S AR QIMIEIE XIJAFY 22,010 7,000 15,010
= 2,010
= 6,000
= 14,000
301 LBENS 22,010 7,000 15,010
= 2,010
& 6,000
= 14,000
01 AISIBE X 2GS (2 LEZME) 22,010 7,000 15,010
ocNZEX 2HHUHFIZ &Lt
22,010,000& 22,010
= 2,010
T 6,000
= 14,000
DX IHEO0IEEEE X EXIKRAS 25,650 17,500 8,150
= 7,695
= 17,955
402 QI2H X201 ™ 25,650 17,500 8,150
& 7,695
= 17,955
02 QIZEXH2AIZ 2 (01 TH &) 25,650 17,500 8,150
cNHERAMI XHEOIEZEEX
570,000 *45CH 25,650
T 7,695
= 17,955
24! EBAIHIR X 100,000 0 100,000
207 AR HI 100,000 100,000
02 HADNE| 100,000 100,000
SOIZAl HAHISH AlAE 25
100,000,000& 100,000
tH=swEyl s=X& 38,000 0 38,000
= 19,000
= 19,000
308 AXISHMSOIA 38,000 0 38,000
= 19,000
= 19,000
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2A:

WSO X2t

3 Usus X
2ol tisus gdst (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
18 SI[2S0tet 4 A AS A 38,000 0 38,000
cUHEUEH 22 XA (K-THA)
38,000,000& 38,000
= 19,000
Ea 19,000
Si sE2¢c 73,664 48,055 25,609
== 1,361
o 72,303
ANSASE R 23,344 11,216 12,128
< 1,361
= 21,983
201 er23| 10,608 9.216 1,392
01 At2t2ltl 6,288 4,8% 1,392
CNSAUSEE 223
30,0002 x8Z+ 123 2,880
SNEANSE 22 24|
9, 0002 +4Z 632 2,268
SOIRAQAET] ARBIIC HI| 442
3,800,000 *12& +2. 5% 1,140
2 s5=g4l 4,320 4,320 0
oREE EXIAIAHE FX2e
360,000 * 12 4,320
202 04| 2,000 2,000
01 2L A 2,000 2,000
oNENS=AL 5
10,0003 x4 & ~50 2,000
301 LELE NS 4,536 0 4,536
S 1,361
= 3,175
14 IIEt2 83 4,536 0 4,536
oZOHQl NSt A
12,6002 *360CH 4,536
= 1,361
Ea 3,175
405 AtatE = 6,200 6,200
01 TR =S FSHI 6,200 6,200
oHEI|IHESAIEGIS POItE 257|
4,200,000 ~1CH 4,200
oltSxt UH 258 25|
2,000,000 *1CH 2,000
ASit2te dtele ot 50,320 36,839 13,481
201 er=23y| 50,320 36,839 13,481
01 AtR2t2|HI 10,040 10,023 17
oS SEE(LEEEAN, SERR )
70,0003 *302 A 2,100




S E=={\[{E PN}
D tsnsS N

D AST SE2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oltSit & MULSHUEHE DKM M=
70,0003 %98t A x4 2,520
oAtSAt SAI2 olotHS T
3,000 +1,000%& 3,000
SHEI|HESMEHAS ABS
320,000 x35+23] 1,920
oXESE Zelf 2l
250,000 *23] 500
02 S3=gHl 40,280 26,816 13,464
oNSXBA HUHSN SERS
430 *20,0000H 8,600
oXtESXt WEHE DN RERS
2,530& +1,00001 12 30,360
SUESHEANHIA HA2H0I8=
1,320,000 1,320
UIEPNED P 1= 4,624,336 6,366,380 A1,742,044
= 916,172
=S 190,590
s 3,517,574
WSOt ASI| X & 2el 192,000 264,600 AT2,600
ASJ X & WA 192,000 189,600 2,400
201 et 3| 42,000 39,600 2,400
02 s3=gHl 42,000 39,600 2,400
custss & BES 2=
3,500,000& ~12& 42,000
206 MH=HI 20,000 20,000
01 MZH| 20,000 20,000
clESHSS 28 M 20,000
“WSAS K01 5,000,000 +29H 2= 10,000
-BE2N0II 500,000 *107H 2 5,000
-NEASS(LED) 500,000 *107H A 5,000
401 Al HIZL 2018 130,000 130,000
01 Al&H| 130,000 130,000
oSNNS S WA # EHI
10,000,000 79K 2= 70,000
cHENSI| 2g B+
1,000, 0002 60K 2 60,000
SEHQ IIES 22 1,067,556 1,100,837 A33,281
JIIE2SuM & =Al2 1,067,556 1,035,332 32,224
201 Ler23 | 458,75 458,732 24
01 At2t2lt] 5,000 5,000 0
OMNRES & IIZ2S 2E2E
50,0002 x105+102] 5,000
02 S3=4gl 453,756 453,732 24
oJtizs dJlks 451,200
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2A:

WSO X2t

33 UKL IR
ol EEH0 OIS 2al (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-I2S(SEH)
5,000& 2,000+ 122 120,000
-2oHS(ZAR)
4,600& 6,000+ 122 331,200
oJIZS YE SHAIEE
13,000 * i A+ 12 156
oJIZS 22l Z2Y |RAEs
200,000 * 122 2,400
206 MH=H| 167,000 164,800 2,200
01 M=4l 167,000 164,800 2,200
cIES 248 A 111,000
-#= 70,0002 x255+ 128 21,000
=y 50,0002 x30S+ 122 18,000
-XHED & OIE 20,0002 x50 * 12& 12,000
-LED SI1+ 300,000 *2005 60,000
ol NMHSEE 70,000 »800H 56,000
401 A2 HIRL 201 441,800 411,800 30,000
01 Al&H| 440,000 410,000 30,000
ol 128 &X ¥ uH
1,000,000 %100 100,000
o2 E KAL4=(H2AHEI}) At
80,0002 *2,750S 220,000
oMIINEE FIIBE BEY ML B
400,000 *500H 2 20,000
oZ&z Bl HEN [HE Jt2S EE WA
10,0002 %10,0000H £ 100,000
03 A2 2 0HYI 1,800 1,800 0
oJti2s FAE+ € 014, wH, £X
1,800,000& 1,800
LIS PNIUE= =2 3,364,780 5,000,943 1,636,163
= 916,172
= 190,590
Ea 2,258,018
AHEUHEHKES X2 55,693 82,674 N\26,981
=S 14,680
s 41,013
201 fet=3| 4,660 4,420 240
01 AtR2t2|HI 4,660 4,420 240
o0URX EFFE SAH|
9,000 =3 ~80e 2,160
oHUXIZS & B M S22 MR
50,0002 x105+53] 2,500
202 04dl 2,100 2,100
01 2L AL 2,100 2,100
clUHAIES =& 20,0002 x3& *36& 2,100
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2A:

E M

WSO X2t
Ol RIS AHR O &

el oiHXIoIE ’o‘& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 48,933 76,154 N27,221
= 14,680
= 34,253
02 QI X2 AL E R (0IHTHR) 48,933 76,154 N2T,221
SAMTHMOUUR 22 =SXJAY
48,933,000 48,933
=S 14,680
s 34,253
AHEUHEHKES SSEXHAE 3,277,383 3,361,169 N\83,786
= 907,820
= 171,410
o 2,198,153
201 fer=3| 700 700
01 AtR2t2|H] 700 700
SMMMHN UK S2AIE EotRIES =&
100,0003*7& *13] 700
402 QIF X201 & 3,276,683 3,360,469 N\83,786
= 907,820
== 171,410
o 2,197,453
02 QI EASEX(0IETHR) 3,276,683 3,360,469 N\83,786
SATHEHUA 22 SSSHAZAS
3,276,683,000& 3,276,683
= 907,820
== 171,410
o 2,197,453
LPGEI| AFEJt7 AIEOHE A 16,704 36,000 A19,296
= 8,352
= 8,352
403 X SHHMSAH=01H 16,704 36,000 AN19,296
= 8,352
o 8,352
02 S712S0 e H=E P E AL 16,704 36,000 19,296
olPGEI| AHEItT AIEIRE AL
290, 0002 64t %90% 16,704
= 8,352
s 8,352
IIAHEEXI(EOINR) ESAY 15,000 15,000 0
S 4,500
= 10,500
403 X SHHMSAH=01H 15,000 15,000 0
= 4,500
o 10,500
02 ST 2SO etA=2 A P E A I 15,000 15,000 0
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2N WS X2t
PSELEAN & DI=IDNE=D] =15

el oiHAIOIE & (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S IIAHEEXI(EHOIHE) BESAtY
15,000,000 15,000
= 4,500
Ea 10,500
wns=i s 2,602,000 3,362,000 A760,000
S 1,200,000
= 1,402,000
=xtatd O 2,500,000 3,300,000 A800,000
= 1,200,000
[Ea 1,300,000
SE=E EX2g 100,000 0 100,000
201 eer23y| 100,000 0 100,000
01 Al 22lH| 100,000 0 100,000
o2BBA N FE Yz
100,000,000& 100,000
FAEBMEX AN (HES) (HEALY) 2,400,000 0 2,400,000
< 1,200,000
= 1,200,000
401 Al HIZL 201 2,400,000 0 2,400,000
= 1,200,000
= 1,200,000
01 Al&H| 2,400,000 0 2,400,000
SUEE 2IFTE THAY
2,400,000,000& 2,400,000
= 1,200,000
o 1,200,000
ws=A 102,000 62,000 40,000
ws A& 102,000 62,000 40,000
201 2= 94,000 54,000 40,000
01 AtR2t2lt] 4,000 4,000 0
CIMEHEHI} AoAE 2 4
100,0003 8 +53] 4,000
03 A= SHI 90,000 50,000 40,000
oM WSt & =Xty el
25,000, 000& »23] 50,000
oMedel MYMA =Xt & WSt =24
20,000,000& »23] 40,000
307 glztol & 8,000 8,000
02 LB HAHE L 8,000 8,000
clSAT BHe &5 6,000,000& 6,000
o5t Kel0l WSEAM A=
2,000,000& 2,000
AH2LZH(L S XD 61,137 54,512 6,625
el 2| 37,591 32,095 5,536
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2N
XM 8 HEH( LS X D)

M2
s lIEE2ghl (ot

L FE - SRAE) - MRAY - BES A 2
24| 37,591 32,095 5,536
101 @124H| 37,591 32,095 5,536
01 &2 37,591 32,095 5,536
ENEIEEES=
11,6022 x 152« 18AI 2+ 123 37,591
=38l 23,546 22,457 1,089
JI23Hl 23,546 22,457 1,089
201 et 3| 19,346 18,257 1,089
01 At 22|l 19,346 18,257 1,089
OMNRES 15,0002 155123 2,700
o= AEX 25,0003 102t A% 123 3,000
cdISE M 2502 *1,0000K* 122 3,000
S=AD ADE 7Y Y 42
1,000,000 *2CH 2,000
oFAD| A= 165,000« 12& 1,980
SU2A=R 5,040
-S2Al 20,0002+~ 122 1,440
NN 15,0003 20+ 122 3,600
odz d=J| &
54,9002 1L+ 122 659
oBJIEEI &
40,2803 »2CH+ 122 967
3 L= 4,200 4,200
MU FAZHER= 4,200 4,200
=26¢1 0I5t 350,000 x 12 4,200
Hegs(nsuuHXzR) 181,566 154,528 27,038
He K& 181,566 154,528 27,038
WA XIE 181,566 154,528 27,038
701 JIEteIHSEE 181,566 154,528 27,038
O1 et AN ES 181,566 154,528 27,038
oFAHEYEE £
181,566,000& 181,566
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